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Volume in the Real World

1. Determine the volume of the water that would be needed to fill the rest of the tank.

2. Determine the volume of the composite figure.
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1. The volume of a rectangular prismis IV ft3, and the height of the prism is 7 ft. Determine the area of the base.

L .2 . .
2. The volume of a rectangular prism is % ft3. The area of the base is 3 ft2. Determine the height of the rectangular
prism.

. . . . . .1
3. Determine the volume of the space in the tank that still needs to be filled with water if the water is 3 ft. deep.

2 ft.

5ft

4. Determine the volume of the composite figure.

5. Determine the volume of the composite figure.

1in.

3in.
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a.  Write an equation to represent the volume of the composite figure.

b.  Use your equation to calculate the volume of the composite figure.
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1. Determine the volume of the water that would be needed to fill the rest of the tank.

Volume of tank =Ilwh

Volume of tank (1 m) (5 m) (3 m)
olume ol tank = 4m Zm 4-Il‘l

15
Volume of tank = — m?

32

»|w

Volume of water =lw h

1 1 1
Volume of water = (1— m) (— m) (— m)
4 2 2

5 ., 10
Volume of water = — m

=—m3
16 32

. 1 ; 10 . 5
Remaining water needed = — m° — —— m

32 32™ T3z ™

2. Determine the volume of the composite figure.

Volume of back piece =lwh Eft.

5 1 1
Volume of back piece = (§ ft.) (§ ft.) (Z ft.)

1
— ft.
4

5
Volume of back piece = % 3

1ft
3 ft

Volume of front piece =lwh

1 1 1
Volume of front piece = (— ft.) (— ft.) (— ft.)
4 6 4

1
; — ft.
6
1 /
ft.

1
Volume of front piece = % ft3

Total vol Sft3 1ft3 6ft3
oavoume—96 +96 _96

21 3
1. The volume of a rectangular prism is 2 ft3, and the height of the prism is 1 ft. Determine the area of the base.

Area of base = volume -+ height

Area of b 21 ft3 = 3 ft
eao ase = 12 T4 .

21 9
Area of base = — ft3 + — ft.
12 12

Area of base = 21 ft3 + 9 ft.

7
Area of base = 3 ft?
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10 2
2. The volume of a rectangular prism is 21 ft3. The area of the base is 3 ft?. Determine the height of the rectangular
prism.
Height = volume - area of the base
10 2
Height = — ft3 + = ft?
21 3
Height 10 ft3 = 14 ft?
M=t T
10 5
Height = — ft. OR - ft.
14 7
1
3. Determine the volume of the space in the tank that still needs to be filled with water if the water is 3 ft. deep.
2 ft.
2
1- ft
3
5 ft.
Volume of tank=Ilwh Volume of water =lwh
2 2 1
Volume of tank = (5 ft.) (1 3 ft.) (2 ft) Volume of water = (5 ft.) (1 3 ft.) (§ ft.)
50 . 5 25 _ 5
Volume of tank = Y ft Volume of water = 5 ft
Volume to be filled = 3 ft5 — 2> f3
Volume to be filled = 132 £t — 2> ft>
Volume to be filled = % ft3
4. Determine the volume of the composite figure.
3
M 1
§ m
1. 1
3 zm
1
—m
4
Volume of back piece =lw h Volume of front piece =lwh
(3 1 1 o1 N1 (1
Volume of back piece = (Z m) (§ m) (§ m) Volume of front piece = (4 m) (8 m) (3 m)
Volume of back piece = % m?3 Volume of front piece = 9_16 m3
_3 3,1 3_4 3 1 s
Totalvolume—96 m” + o= m® =g m OR 21 m
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5. Determine the volume of the composite figure.
v=ain)(izin) (13 n)  @ino (2 n) 5 in)
=(1in. 2 in. 2 in. in. 2 in. 2 in.
(3. (5. (5 L.
V=_>1in) (E 1n.) (Z m.) + (3in.) (E m.) (Z m.)
15 15
_ 23, 2.3
V= 3 in” + 8 in
30 . 6 . 3.
V=?1n3=3§1n30R 3Zm3 3 in.
6.
1
2 m
o 1
Z m
a. Write an equation to represent the volume of the composite figure.
V—(B1 2 11 ) (33 2 21 )
= 2m>< m X 4m-+- 4mx m X 4m
b. Use your equation to calculate the volume of the composite figure.
4 (31 2 ><11 )+<33 X2 ><21 )
= — X — — —
2 m m 2 m 2 m m 2 m
V—<7 ><2 ><5 )+(15 >(2 X9 )
Sgmrgmxgm) Ty megmxgm
70 270
I 3
=3 16 ™
70 135
V=— 3 3
8 * 8
_205 s
8
V=25 >
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